2. Wedon’tknow __ .
A. Whom they leave
C. Which will leave
3. Can you imagine ?
A. how they are cute
C. how cute they are
4. We can eat A
A. Whom you give
C. Why give you
5. Tknow R
A. How you did it
C. Who you did it
6. My mummy knows

A. When will he come

C. Which shall he come

B. When they will leave
D. Which they leave

B. how cute are they
D. how are they cute

B. Whenever give you
D. Whatever you give

B. Where did you it
D. Why did you it

B. When he will come
D. Whom he will come
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B.Com. Semester - 6 (cBCS) Examination
April/May-2022 (NEW COURSE)
English Language-6 (Foundation (New))
Time: 2:30 Hours Marks: 70
Instructions:
1. All questions are compulsory.
2. Figures to the right indicate marks.
Que-1(A)  Join the following sentences. (Any five) (05)
1. You should love and understand your wife. It is your duty.
2. He sells newspapers. He earns money in this way.
3.1 met a man. He was poor.
4. Vrishin has a talent. He has intelligence.
5. They wanted to educate their daughters. They sent them to abroad.
6. Viral Kohli played Cricket. Dhoni played Cricket.
7. Rinku will get first rank. It is certain.
Que-1(B) Fill the blanks choosing the right Adverbial from the following options. (Any Five) (05)
1. He is walking very ‘
A. Fast B. Twice C. Surely D. usually
2. Thave seen him here.
A. Ever B. Never C. Certainly D. Directly
3. Isaw him five years X
A. Before B. Soon C. Ago D. usually
4. He is coming on .
A. Today B. Fast C. Daily D. Friday
5. She sang a song : 5
A. Sweetly B. Often C. Always D. Surely
6. Don’t speak .
A. Nicely B. Loudly C. Often D. Yesterday
7. The Doctor will come .
A. Usually B. Always C. Tomorrow D. Yesterday
Que-1(C) Fill the blanks by choosing the proper Noun Clause from the following options. (Any Five) ~ (05)
1. None knows : - .
A. Who they are B. What they are
C. Whyheis D. When are they




Que-1(D)

Que-2(A)

Que-2(B)

Que-3(A)

Que-3(B)

Que-4

7 I don’t know

houldgo B. Who I should go
é. \\zl}:or?llsshg:]d ggo D. What I should go
. Cc

Give One-word substitute of the following. (Any Five)
1. One who is present everywhere.

Murder of the self.

A life history of a person written by himself.

A woman whose husband is died.

A word similar in meaning to other word.

A person who speaks two languages.

7. The Government by the people.

= T N N P

Draft a Job Application for the post of a Manager in a Company.

OR

Draft a Job Application for the postof a Teacherina School.

Write an essay on the following. (Any Onc)
1. E-Commerce

2. Online Food Delivery

Answer the following questions in one line. (Any six)
I

Wh

What was the name of Tom's brother?

NSwawbh

8. What was the profession of Mathilde’s husband?
Write the following questions in brief. (Any Three)
1. Why was the Long Nosed one dismiss
2. Who was Mathilde’s husband? Who was he?
3. Why did the counsel decide to dismiss the guard?
4. What did Baron Hausberg send to Hughie? Why?
5. What was Tom’s attitude towards life?
Write short notes on the following. (Any two)
1. Hughie Erskine
2. George Ramsay
3. The Theme of TOO DEAR
4. 4. Mathilde

#.‘t“‘t.‘ttt“t...““‘##.

Who is the hero in the story The Model Millionaire?
at was the population in the Monaco's kingdom?

Who was Hughic's best friend in the story The Model Millionaire?
What price did France government ask for helping with execution?
What was the hero's profession in the story The World.

Renowned Nose?
What was the real price of the Necklace that had been I

ed from the job?

(19)

(10)

(06)

(09)

(15)
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B.Com. Semester - 6 (CBCS) Examination
April/May-2022 (NEW COURSE)
Economics of Business Environment-2 (Core (New))

Time: 2:30 Hours Marks::70-
Instructions:
1. All questions are compulsory.
2. Figures to the right indicate marks.
Y- ellell Wallell GENON A=A 9?7 doll AMRAB U 53, (0)
vl
ust-1 eRdla Galolell clal@s il asld.
W ARAM oflRfl M Gewesdl WS wauoerk UBHAl ul 53 (R0)
vl
us-2  elclofl etcll 50 [@stoll eyguatl dwal,
ua-3  elrdla tugla welsteei wietd(ls2etell w3Ratd @A 22 3. ()
WYl
Us-3  ellRdoll aad-Astd @6l ul 53
Uy () el uRlyetoll HalerRdl weudl. (08)
(@) oflQ et stAl aquld. (09)
22 el
Y () etrella U uR Aot HeuAel Aorordl UA ety Yol UUA celdl. ' (08)
(1) St UeUAH U2 et A5 wole] wgua. : : (09)
ENGLISH VERSION
Que-1 ~ What is small scale industries? State the problems of small-scale industries. (20)
’ OR
Que-1  Describe the characteristics of Indian industries.
Que-2  Discuss the factors responsible for low productivity in India. (20)
OR
Que-2  Examine the New Strategy of Agriculture Development in India.
Que-3  Discuss the Need of Privatization in Indian Economy. (15)
OR
Que-3  Discuss the Import-Export policy of India.
Que-4 A. Explain the limitation of Indian Planning, ' (08) -
B. Describe the functions of NIT] Ayog.
~ OR e
Que-4 A. Des:cribe the impact of Corona pandemic on employment and Income on (08)
Indian economy.
B. Stz.lte thf: economic measures taken by the Indian govt. in the Corona (09)
epidemic. :

***************************



BCM6BmM2C102x Seat No :
B.Com. Semester - 6 (CBCS) Examination
April/May-2022 (NEW COURSE)
Business Mathematics and Statistics-2 (Core (New))

Marks: 70
Time: 2:30 Hours
Instructions:
1. All questions are compulsory.
2. Figures to the right indicate marks.
yst-1(a) Ruél Qerotett el seual. (08)
ys-a(b) AEW A x of deudetl AdRgl oA yxud. (12)
X -3 | -2 -t |o| 2 |3
P(x)| 0.05| P| 0.30| 0| 0.30| 0.15] p
al LRA wRell P, E(X), V(x) Ao e(x+1)? AACl.
aal
ys-1(a) A5 BUR AcReel 1eas 20 wU QARQ 16 82 n,p AU g oll Buct Aadl. (08)

ysi-1(b) As Seoltil 4 UFE 6 slow ESL B. Ws AGA A3 AEW wA 2 5L Al AA B.. yds u¥e  (12)
Est M2 3. 14 HA B, A YAs sl £5L M2 3. 7 HA B, A A HaAcdl Mol UA@AA Bud
Ak,
ys-2(a) YR [QdQet el ¢, (08)
ysi-2(b) 4000 Reellzlle] ool YL QAR Aoju? B, Bell Heats 50 BAUM uUA YHIEl Quast (12)
5 Bclow B, A (i) 45 BAUH A WG (i) 45 AU 60 B. UL A A (iii) 45 Beouell
ay aosel URlccl QaueRAs{l vau e
Alt: 2=0,1,2,3, HZ YLHIL A5 AAsO Bej5R, 0.0000, 0.3413, 0.0772, 0.4987
Cuaal
ysi-2(a) A5 UM QR Q,=40 UA Q=25 B, Al Q@ Utals Mt AR oges A (08)
; Uqds Quett Aal :
Ya-2(b) A5 SZAML Bl AEHell olielle] @Act Yt QdRQA of? B, BA UA5=200 WA (12)
YR Quctet=50 B. 8loet As Rad 3. 275 &l auw @etawon edlol dvau 40 8. A /
Rt ot l2ctetl §& Aeslell éh»euoj UgjHlel AN (z=1.5 HIZ YHICACS] AA$N=0.4332)
Ys-3(a) A®s Aot uedl wudl. (05)
Y#-3(b) ollAell WRA uell 2R22ell A Wl Yus 2isoll 21QLctdl 5. (10)
ad |Q |[Q |Q Q, '
2018 |75 |86 |90 100

2019 |60 |65 |72 78
2020 |54 |63 |66 72
2021 |59 |80 |85 93
i yal
| ya-3(a) AR R U@ windl (05)
us-3(b) ollAell AQN MR oyotctit cdlell AQA 25 cetel A, : s (10)
ay 2015 | 2016 | 2017 | 2018 | 2019 | 2020 | 2021
Geuest | 77 88 |94 85 91 98 90
UH-¥(a) JQUHS Aoitloll A ol ysiAd uwmﬂ. (05)
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UH-¥(b)

Ud-¥(a)
Ui-¥(b)
UK-¥(c)

Que-1(a)
Que-1(b)

Que-1(a)
Que-1(b)

Que-2(a)
Que-2(b)

Que-2(a)
Que-2(b)

Que-3(a)
Que-3(b)

Que-3(a)
Que-3(b)

Que-4(a)
Que-4(b)

Que-4(a)
Que-4(b)

Que-4(c)

i ofl vl Rl 14% Ay B,
500 Reuelxd As uRanl ewdl @ B. Fell ¢lg2rillofl AvAl 53 -

i i B, uRatHl sty =Ay
W GREe(l advall sttud &AL GRe Aol AvA setd; :O;{C:ja el R 20
A el 2U8Ue
81500 dvall 80 B. Ao Slwesell Ul 5

2Rl QA=A QuLeHs Aottiis WAL

el
(05)
Coll QUM At QA AuHAA. ] 600 (ab)=200
oAefl 1Bl urell Yeisll Ayaens dutus Aadl. (8)=600 (a)=700 (B)=600 (a EOS)
i 0

Yuiglel 91 A AR B et QLS ottioll Y512 atssl 53, 5)
N=500. (A)=100 (B)=300 (ab)=220

ENGLISH VERSION -
State the properties of binomial distribution.. o
The probability distribution of a random varlable1 X ISOglVCI; below2 3 (12)

X -3 -2 -
P(x)| 0.05] P| 030] 0} 0.30] 0.15

Find (i) P, (ii) E(X), (iii) V(x) and e(x+1) or
For a binomial distribution meén+20 and variance 16 find n. p, q (08)

There are 4 white and 6 black balls in a box. A person takes 2 balls at random from the box if (12)
receives Rs. 14 for each white ball and receives Rs. 7 for each black ball find the expected value of

the amount received by him.
State the properties of normal distribution. (08)
The weights of 4000 students follow normal distribution with mean 50 kg and S.d 5 kg. Find the (12)
number of student hawing weight. :
(i) less than 45 kg. (ii) between 45 kg and 60 kg and (iii) more than 45 kg.
NOTE: Z=1 when area under the normal curves is 0.3413

Z=2 when area under the normal curves is 0.0772

Z=3 when area under the normal curves is 0.4987

: OR

In a normal distribution Qs=40, Q=25 find median, mean, mode and Quartile deviation. (08)
The expenditure on breakfast of customers of a restaurant follow normal distribution with mean Rs. (12)
200 and S.d RS. 50. On a particular day 40 customers spend more than Rs. 275 and the expected

number of customers visited the restaurant on that day. NOTE Z=1.5 when area is =0.4332
Explain the components of time sense, ) ’ 05)
A8

Find seasonal indices by method of averages. (10)
s ST e 5
8
2019
2020

2021 |

Explain the method of moving averages,

Find linear trend for the following time seri . (05)
o 2016nes using method of Jeast sq uares, (10)

(05)

rls by 14% of all (10)

failing in examination numbered 80, ber of failed candidates by 300. Boys

Construct the

association between boys and Success in exam, fable and calculate Yale’s Fosficien: b
E.xplain Y,ale’s coefficient of association &= |
(éni;(()ale s i:oefﬁcxent of association from the following ; | &
@)-600 =700 (=600 (aby=300 oWing information &
N=§10 g t : xlature of association between A and B by e} _

- (A)=100 (B)=300 (ab)=220 . Y USINg proportiop method 09

¥k .
**********************
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B.Com. Semester - 6 (CBCS) Examination
April/May-2022 (NEW COURSE)
Auditing and Corporate Governance-2 (Dse-1 (New))

Time: 2:30 Hours Marks: 70
Instructions:
1. All questions are compulsory.
2. Figures to the right indicate marks.
ys-1 Susfluirl-2093 Yol ‘Suel wdle’ AR ‘Suoll 202l el U UA A ocl (R0)
AWSleRell &551 AUA 5290 UA £2 sRclloll Nl Ao
AYell,
Ut [A]l SUelltiRl-R043 Aot 200l cliustel A Holclg] AHAA,
[B]  Sucllturl-2043 uead 0220l (g5 2R YotAHgs axeA.
ys-2  Slellses (@QQ umydl 2l lllsos 2430 suclluiaiedl SIS FRUN A Aotl USLA (R0)
oRUAl.
UL
YA-R  otdl ual aFugluiat st a2 detetiats Al 5312 cAZARUA ott A 2220l 5298
gl
Ya-3  Alsle adauet 243 :Wdleell 520 2ure 59 WA AR ‘capterodl AlSle udeletall WU (1)
CERTERTEERRII
UL
Ud-3 Alsle AWE A W82 Yrerusted sl ulmé Any A Sleell elueldlA tayon Ay
URL A2 Wttt sl oseud,
vy ellQaust wd AdRRe atcislotell unyell il AR w4 YR s clte] Wetet srcun ()
Auets 45 tautatui Actoll YR woud). |
UYcl
us-y

SURe dlctelodtoll 2celni AR AURARRRlLel 5RA 2R oot d1ciefoy 3 vallail

HRAUCHetoll vuE Yuo .
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Que-1

Que-1

Que-2

Que-2

Que-3

Que-3

Que-4

Que-4

ENGLISH VERSION

Give the meaning of ‘Company Audit’ and ‘Company Auditor’? Accordingly, state Rights (20
and Dutics with the provision to remove an auditor as per companics act-2013.
OR
[A] Auditor’s qualification and Remuncration as per companics act 2013.
[B] Auditor’s Appointment and reappointment as'per companies act 2013.
Explain dividend and state the provisions of companies act regarding dividend and also (20)
explain types of dividends.
OR
Discuss comparatively profit and divisible profit? state auditor’s duties regarding divisible

profit.

Make clear the duties of auditor regarding audit report. explain the concept of “True’ and (15)
‘Fair’ Audit report in detail.

OR
Give the meaning of Audit Report and Audit Certificate? State the characteristics of a good

audit report by seeing the auditor’s responsibilities.

Explain ethics and corporate governance and state the points to be considered by board of (15)
directors in following ethics and honesty.

OR

Explain the concepts of Ethics Committee and Green Governance in context to corporate
governance.

3 343k o ok ok sk ok ok ok ok ok ok ok ok ke ok ok ok ok ok sk ok ok sk sk

Page 2 of 2




BCMGFmZDZOlA Seat No:

B.Com. Semester - 6 (CBCS) Examination
April/May-2022 (NEW COURSE)
Financial Management-2 (Dse-2 (New))

Time: 2:30 Hours Marks: 70
Instructions:
1. All questions are compulsory.
2. Figures to the right indicate marks.
_—;;:— stalellet 3Slof AU AeA g7 Aal AUAR 5l UBHA wA Asll Y5LRL auostell. (20)
el
ys-a sdelle 3l duetetott d AR HEel yHecll.
ys-2  HMIGRUHLL RSt 3l AUA Aoll HLRAERA yHostell. (R0)
Al
ys-2 el
q. WEs cRél wedll
2. aet atdtetoll ABC cd(lsguell usld
(W)

ys-3  2Ass AUlctotol v, Mol B 2ol UHA A
JUET

ys-3  Ass oiBe AA g dell cllelcld ERIC T
of dALctet R2@ g2 ARl Feuactst R 3 amestell, Aol AUUR 8cll uR

APl

ys-¥y Qg

ys-y 9 Qell Retca ¥3 87 Al et QAU usAA 58 87

ENGLISH VERSION

Que-1  What is working capital management? explain affecting factors and typ
OR

Que-1  Explain objectives and importance of working capital management.

Que2  Explain objectives and merits of inventory management.
-~ OR

Que-2  Explain:
1. Economical order of quantity
2. ABC classification method of Inventory management.

Que-3  explain meaning, importance and objectives of cash management,
OR

Que3  What is cash budget? explain merits and demerits of cash budget.
Que-4  what is receivable management? explain different objectives and affected factors of

management of receivable.
‘ OR

Que-4 Is it necessary to maintain the receivable? What are the methods of management of

receivable.
s oo o o ok ok e s ofe o o o o ok ok e s o o o o e o o

oL UMl ()

es of working capital.  (20)

(20)

(15)

(15)
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BCM6Ma2D301A SeatNo :
B.Com. Semester - 6 (CBCS) Examination
April/May-2022 (NEW COURSE)
Management Accounting-2 (Dse-3 (New))

547510

Time: 2:30 Hours
Instructions:
1. All questions are compulsory.
2. Figures to the right indicate marks.

Marks: 70

—

Yot ARRsett A a ett wist 1A (1A Y B.

. ydl - tal 2021 Rs. | 2022 Rs. AasAl 2021 Rs. | 2022 Rs.
A A2 €35 3 100 <l Ws Aal 144000 216000 | GAR Metsdl 504000 | 705600
10% ¥ A2 €35 3100 ol 72000 72000 | s 216000 86400
AL WAHA 288000 216000 | EAEIRA 57600 50400
sx BAwR 144000 144000 | 2A8S 14400 7200
UG FURERRA 115200 | 172800
ysaal ol disl Tl 28800 28800

792000 | 849600 792000 | 849600
GuAset MR uRel, 2ddl 52A
(1) W YRR (2) yaudl 9elcR
(3) W@gl oRldR (4) RA Retsdl - diodt duot sit AsEN ol AYBR.
ULl
ys-1 SS @ARRsel A a ot wist ¥R «(1A yud .
il - tau 2021 Rs. | 2022 Rs. | Rasdl 2021 Rs. | 2022 Rs.
A3 A2 €35 3 100 oll A5 Al 84,000 | 1,26,000 | RA AetsA 2,94,000 | 4,11,600
10% U% A2 €35 3 100 ol 42,000 42,000 | ®s 1,26,000 50,400
AU BoltH el 1,68,000 | 1,26,000 | EcElRL 33,600 29,400
8% BAoAR 84,000 84,000 | Ass 8,400 4,200
W wUUERl 67,200 | 1,00,800 ‘
ysacl ol olLsl el 16,800 16,800
4,62,000 | 4,95,600 4,62,000 | 4,95,600
GUAsd Bl uRell, a1atddl sA
(1) e AR (2) yeuél QAR

(3) @8] et (4) G2 Retsell - cioll U ot ASIEN oA YRR,

Cyn? 3oy oflAell Ro1Al A YAl wd D A 3 2022 ol YRL Ucll AR M of AsS £ UA AR sR¢lloj 83 .

1)l 1-1-2022 oll A% AsS citél 3 87500

2) AU ot AUELA :

iz 2021 3 140000

Bk 2021 3 210000

Aoylldl 2022 3 280000

youdl 2022 3 350000

W 2022 3 350000

USCR UR 33.33% o1l USLlA o] AU scul wAD

QAR USAR HL WU Myl U AR Rlat wll of yugt Vs 50%, 30X U 20X of B.

§G QAL o1l 40% AL U et WAL olt 20% WA Ass o A aa B.
URs @2 wad 3 70000.

3)
4)
5)
6)
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aad

7) ysagl A wet Ul G
Hadl 1
1@t Ay vl % WY
GuIR QUL 1EHI
G2 wdlel % HA sl .
L 0
ysr ool WA well 31 i 2022 oll YRU Uctl AQL WA et e 62 )
“ st qam | wede | gl i
(Rs) (Rs) (Rs) (Rs}
AQR-21 140000 96000 | 30000 17000
R -21 150000 90000 | 30000 19000
ofeullil-22 160000 92000 | 32000 20000 |
Ygudl-22 170000 100000 36000 22000 le-
wd-22 180000 104000 40000 23000
(o) uw ofl Yect:
QL oll 10% Ass AUGL B, GHIR AL ol 50%URL UESlott HRA UA Gflotl AllRll RUR GlLEatl HEA
MR D, HAUMIololl ARER A M, 1@l % W, uAawAl % UL
(5) 16l Aol 2022 olt BEUBCL ASS Rs 60000.
(s) A Aol B :
i Rs.200000 ait elloz-Hallotfl AR3012 2021 i wdlecuni wad, Roll Ysagll wseborz &l AR UMl
RS gLl 1l seUMl A,
il. 3200000 ofl Yg0204Sl UR 8% BASS 16l 3ulott A Ygeteuni wwad.
iii.  cllgel QAW 3 50000 M HBotmi UG Ll Hacel B, fral
iv. ol Astel uR BRSsel 3 60000 HOA.
ya-3  SBA [@ARRS of culls udladetelle vielsust oA Yoo B, ()
@atdl 50% 75% 100%
Yelal HIA™MIo 105000 | 157500 | 210000
Yetel 1ol 140000 | 210000 | 280000
slullell uat Wl 91000 | 108500 | 126000
AUBU ua vl 38500 47250 56000
- . Qe (Egetgld uat wal 64400 78400 92400
susll slet 50% GAllEot aticll A 513 5 8 : '
80% GAlleet alicll A 512 sl Aay is ;{ aazll: ‘éﬂui“:l?f;;it@;:cz? ?SOOO > suc[.l 7
70% Ual 80% GewlEet aiell A URAcstallet 2gterus, dalr s, o o e
Ak
ua-3 sB @AMRs of s udladoteller sigtrun o2 Wor B, L
Qatcl (W)
YeRlel HEUMIA - 0% | orsx 100%
Yelel 1y 180000 270000 360000
SIRUIolL Ue i 240000 360000 480000
B uet v 156000 | 186000 216000
QU @Acteel udle wa 66000 81000 96000
suell atet 50% Geuteet sy o 58 52 B U g o] QU By Q "(:400 g 200




us-y A6 suell A cdatdl ol Aefl 3uR el ©.

UK-Y

Que-1

Que-I

Que-2

1) otsl weal RN 0%
2) AdQe dunl 20%
3) RAR wal 3 150000
MERE
L Adge @ 2. Quu 3. o8l

vl
ofyR &. ell etsl W2 QAR 40% A AAMl ol duAl 30% .
Rl 8

1 uge @g 2) ot8), % QUL w2 3 450000 bl

ENGLISIT VERSION

Balance sheets for two years of Suresh Itd are as under

[Liabilities 2021 Rs. | 2022 Rs. | Assets 2021 Rs. | 2022 Rs.
Equity shares of Rs. 100 cach 144000 | 216000 | Fixed Assets 504000 [ 705600
10% pref. shares of Rs. 100 cach 72000 72000 | Stock 216000 86400
Reserves 288000 [ 216000 | Debtors 57600 50400
8% Debentures 144000 | 144000 | Cash 14400 7200
Current liabilities 115200 | 172800
Unpaid Expenses 28800 28800

792000 | 849600 792000 | 849600

From the above information, you are required to calculate

(1) Current Ratio (2) Liquid Ratio

(3) proprietary Ratio (4) Long term Funds to Fixed Assets Ratio.

OR

Balance sheets for two years of SS Itd are as under
Liabilities 2021 Rs. | 2022 Rs. | Assels 2021 Rs. | 2022 Rs.
Equity shares of Rs. 100 84000 126000 | Fixed Assets 294000 [ 411600
cach
10% pref. shares of Rs. 42000 42000 | Stock 126000 50400
100 each
Reserves 168000 126000 | Debtors 33600 29400
8% Debentures 84000 84000 | Cash 8400 4200
Current liabilities 67200 100800
Unpaid Expenses 16800 16800

462000 | 495600 462000 | 495600

From the above information, you are required to calculate
(1) Current Ratio (2) Liquid Ratio
(3) proprietary Ratio

(4) Long term Funds to Fixed Assets Ratio

(au)

(1)

@

(20)

Kenu provides following particulars and asks you to prepare Cash Budget for three months ending  (20)

March 2022.
1. Cash balance on 1-1-2022 is Rs.87500.

2. Estimates of sales:

e November 2021 Rs. 140000

e December 2021 Rs. 210000

e January 2022 Rs. 280000

e February 2022 Rs. 350000

e March 2022 Rs. 350000

Goods are sold at a profit of 33.33% on cost.

o

30% and 20% respectively.

4

6. Monthly fixed Overheads Rs.70000

Page 3 of 4

40% of total sales and 20% of total purchase are made on cash basis.

4. Cost of goods sold includes materials, wages and variable overheads in the proportion of 50%,



7. Time lag:
e Wages | month
e Variable Overheads %2 month
e Credit sales 12 months
e Credit purchase %2 month.

OR
Que-2  Prepare a Cash Budget for the three months ending 3 1% march, 2022 from the information given below: (20)

(@
MONTH SALES (Rs) | MATERIALS (Rs) | WAGES (Rs) | OVERHEADS (Rs)
November- ‘21 140000 96000 30000 17000
December- 21 150000 90000 30000 19000
January- ‘22 160000 92000 32000 20000
February- ‘22 170000 100000 36000 22000
March- ‘22 180000 104000 40000 23000

(b) Credit terms are:

Sales/debtors: 10% sales are on cash, 50% of the credit sales are collected next month and the

balance in the following month.
Creditors: Materials 2 months
Wages 1/4 month
Overheads 1/2 month.
(c) Cash and bank balance on 1* January, 2022 is expected to be Rs.60000

(d) Other relevant information is:
i.  Plant and machinery will be installed in September, 2021 at a cost of Rs.200000, payable in
four equal monthly instalments from October onwards. :
ii.  Dividend @ 8% on preference share capital of Rs.200000 will be paid on 1% March.

ili. ~ Advance to be received for sale of vehicles Rs. 50000 in March.
Dividends from investments amounting to Rs.60000 are expected to be received in February.

iv.
Que-3 The annual flexible budget of SBA Limited is as under.
Particulars 50% 75% 100%
Direct Materials 105000 157500 210000
Direct wages 140000 210000 280000
Factory Overheads 91000 108500 126000
Office Overheads 38500 47250 56000
Selling &Distribution Overheads 64400 78400 92400

The company works at 50% capacity at present and sales value at current price is Rs. 455000.
Company can be able to work at 70% and 80% capacity if selling price is reduced by 6% and 10%

respectively.
Prepare a Flexible Budget for 70% and 80% capacity.
OR
Que-3 The annual flexible budget of SB Limited is as under.
Particulars 50% 75% 100%
Direct Materials 180000 270000 360000
Direct wages 240000 360000 480000
Factory Overheads 156000 186000 216000
Office Overheads 66000 81000 96000
Selling &Distribution Overheads 110400 134400 158400

The company works at 50% capacity at present and sales value at current price is Rs. 780000.
Company can be able to work at 80% and 90% capacity if selling price is reduced by 10% and 15%
respectively.
Prepare a Flexible Budget for 80% and 90% capacity.

Que-4  Following information is related to a company.

1) P.V.Ratio 40%

2) Margin of safety 20%

3) Fixed costs Rs.150000
Find out:

1. BEP 2. Total sales - 3. Profit
- _ OR
Que-4 P.V. Ratio of Nupur Co. is 40% and margin of safety 30% you are required to calculate BEP and
Profit if sales volume Rs. 450000.
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Que-1  Explain the importance of technology in banks. (20)
OR
Que-1  Explain corporate Governance, explain its significance and state its good characteristics. (20)
Que-2  What are BASLE norms and explain its objectives? (20)
OR
Que2  Explain the introduction of BASLE I, I and IIL. (20)
Que-3  Explain the function of Reserve Bank of India. (15)
OR
Que-3  Explain the management of Reserve Bank Of India. (15)
Que-4  Write a note about Regional Rural Bank. 15)
OR
Que-4  Evaluate the performance of co-operative organization. (15)
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Que-1 Chaudhari Stores has a branch in Junagadh. It sends goods at cost price. Branch sells  goods on cash
and credit basis. Branch deposits cash every day in H. O. A/c. Branch expenditures are paid by Head
Office From the following information, prepare Branch A/c, Branch Trading AJ/c, BranchP & L A/c.
Balance as on 1-4-2021

Stock 60,000 | Debtors 15,060
Furniture 1,50,000 | Petty cash 1,500
Balance as on 31-3-2022 '

[Stock [ 21,000 [ Petty cash | 600 |
Transactions during the year: Rs.
Goods sent to Branch 9,60, 000
Goods returned by branch 60,000
Goods returned by debtors ' 15,000
Cash received from debtors 2,40, 000
Sales on credit 6,00, 000
Cash sales 10,20, 000
Discount allowed to debtors 1,500
Bed debt written off 1,200
Branch Expenditures:

Rent 12,000
Salary 36,000
Advertisement exp 9,000
Sundry Expenses 2,100
Goods destroyed in fire 3,600
Calculate depreciation @ 20 % on furniture.

' OR
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Que-1 Rajkot Head Office sends goods to Junagadh Branch

at invoice price adding 25% on cost price,
Necessary information regarding Branch are as under :

1-1-2021 | 31-12-2021
Rs. Rs.
Stock (invoice price) 45,000 36,000
Petty Cash 300 150
Dcbtors 30,000 42,000
Furniture 15,000 13,500 |
Transactions during the year :
Cash sent to Branch by Head Office:
Rent 5,400
Salaries and Wages 18,750
Taxes 6,000
Advertisement 15,000
Petty Cash 300
Goods sent to the Branch (invoice price) 3,60,000
Goods returned by Branch (invoice price) 18,000
Goods returned by customers 9,000
Cash received from customers 1,50,000
Total Sales 4,74,000
Bad debts 3,000 '
From the above information Prepare Branch A/c, Branch Trading A/c and Branch Profit and Loss A/c in
the books of Head Office,
OR
Que-2  From books of Parin Electricity Company Ltd. following balances were drawn on 31st March2022.
Particulars Rs. Particulars Rs.
Share Capital (90,000 Equity P&LA/( 1-4-2021) 47,370
Shares each of Rs. 10) 9,00,000 | Sundry Trade Debtors 43,905
6% Debentures 3,00,000 | Sundry Trade Creditors 68,355
Land and Building 7,50,000 | Furniture ' 20,100
Machinery 3,75,000 Sundry Expenses 73,950
Meters - 75,000 | Dividend Paid 36,000
Mains 3,16,800 | Bank Balance 29,505
Transformers 31,500 | Interest on Debenture 9,000
Salary and Allowances 62,340 | Postage and Stationary 12,750
Used .Stores, Coal etc. 44,070 | Selling of Electricity 3,83,400
Taxation 26,145 | Depreciation Fund 1,52,400
Stock of Stores, Coal etc. 37,020 | Reserve for Repairs and renewal 47,100
Receipts of public Lighting 31,800 ’
Meter Rent 12,660
From the following additional information Pre

pmm\-
according to the Indian Companies Act- 2013. s (Any Six)

(A)Calculate Depreciation on Opening balance of Fixed assets
(B) Company has done following expenditure g

luring the year,
Building Rs. 73,500, Machinery Rs, 46,800, Mains Rs. 1,07,700, and Meters
Rs.18,000. ’

at the rate of 5%,

(C)On every year a fixed amount of Rs. 30,000 is appropriates to Reserve for preparing and
renovation A/esundry expenses include R, 15,375 which were spent for repairing and
renovation during the year. g

OR
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Que-2  The Trial Balance of Gujarat Electricity Co. Ltd. as on 31-3-2022 was as under:

Particulars Debit Rs. Particulars Credit Rs.

Land and Building 2,00,000 | 8,000 Equity shares of Rs. 100 each 8,00,000
Transformers 2,50,000 | 4,000 Preference shares of Rs. 100
Miains 1,50,000 | each 4,00,000
Meters 50,000 | 10% debentures 4,00,000
Machinery 4,00,000 | Securities Premium 80,000
Furniture ' 50,000 | Sale of energy 3,10,000
Cost of generation of electricity 80,000 | Contingency Reserve 60,000
Cost of distribution of electricity 20,000 | Depreciation Fund 99,000
Debtors 99,000 | Meter rent 23,000
Rent and Taxes 11,000 | Interest on [nvestments 20,000
Salary and Wages 40,000 | Creditors 43,000
Interest on Debentures 20,000 | Net Revenue Account
Investments 4,30,000 | (1-4-2021) 75,000
Stores on Hand 1,40,000
Cash and Bank _ 1,30,000
Interim Dividend 40,000 . A

23,10,000 23,10,000

Additional Information: :

(1) Additions during the year in capitals and assets are as under: '
Land and Building Rs.1,00,000, Transformers Rs.70,000, Mains Rs. 50,000, Machinery
Rs.80,000, Equity Share Capital Rs. 1,60,000 and Preference Share Capital 80,000.

(2) Depreciation is to be charged at 5% on opening balances of the fixed assets.

(3) Transfer Rs. 30,000 to contingency reserve.

(4) Provision for taxazion is to be created for Rs. 50,000 for the current year.
Prepare final Accounts according to provision of Companies Act,2013

Que-3 (A) Pass the entries for the following transactions in the books of a company.
(1) A company converts 1,00,000 equity shares of Rs.10 each into 10,000 equity shares of

Rs.100 each. :
(2) A company has converted its 60 equity shares of Rs. 100 each into equity share stock of

Rs. 6,300.
(3) A company has given equity stock of Rs. 5,700 for 60 equity share of Rs. 100 each.

(B) Gujarat Chemicals Ltd. issued right shares to its existing shares. but some shareholders did not want
to buy these shares and wanted to sell their right shares. You are required to calculate value of right
shares from the information given below. Market price of shares (including interest) Rs. 500. The
company offers 2 shares for every 4 shares held for Rs. 200 per share. :

(C) Nitya Ltd. passed a resolution to buy back its own 1,00,000 shares of face value of Rs. 10 each fully
paid at the price of Rs. 11. The company issued 5,000, 8% Redeemable preference shares each of
Rs.100 which fully subscribed and paid up. At that time, the company had a balance of Rs. 60,000 in
Security Premium Account and Rs. 10,00,000 in General Reserve Account. Bank balance was
Rs.7,50,000. The company paid off the amount to equity shareholders after complying with the
provisions in respect of Buy-Back. Make journal entries of above transactions in the books of the

company.
OR
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Que-3

Que-4

Que4

Balance Sheet of Surya Ltd. as on 31-12-2021 is as under:

Liabilities Rs. Assets Rs.
Share capital Fixed assets 3,12,500
i . 100 each full Current assets 1,75,000
Eq'uxty share of Rs eac y 2,00,000
Pt 50,000
Sccurity Premium ’
Gencral Reserve 1,25,000
P&L A/ 92,500
Creditors 20,000
4,87,500 4,87,500

The company declared 3 fully paid up equity shares as bonus for each 4 shares held in annual general
meeting and for this purpose, it is decided to obtain from security premium and from general reserve

Rs. 75,000 and remaining from P & L A/c. '
Pass the necessary journal entries for the above resolution and prepare balance sheet after issuing

shares.
A certain product of Jyoti Ltd. passes through two processes before it is transferred to finished stock.

When the output of first process ‘I ’ is transferred to second ‘11’ a profit of 25% on transfer price is
added and when the output of second process I I is transferred to finished stock account a profit of 25%
on cost price is added. The following information is obtained for the month of March:

Particulars Process-IRs. | Process-IIRs. | Finished Stock Rs.

Opening stock 10,000 16,000 20,000

Direct materials 60,000 12,000 -

Direct wages 50,000 30,000 -

Factory overheads 14,000 11,000 -

Closing stock 20,000 21,000 27,000

Inter process profit for opening stock - 4,000 8,000

Sales of finished goods - - 2,20,000
Prepare:

(1) Process accounts showing profit at each stage and Finished Stock Account.
(2) Statement showing actual realized profit.
: OR
A product manufactured by Jay Electronics Ltd. passes through two processes A and B. While
transferring the production of process A to process B a profit of 25% on transfer price is added. Profit is
added in the similar way while transferring production of B to finished stocks. There was no opening or
closing stock of work in progress. F ollowing information are given for the year ending on 31-3-2022:
Process A | Process B
Materials Consumed 2,00,000 6,00,000
Wages 3,00,000 4,00,000
Closing Stock 1,00,000 3,00,000
Stock in each process has been valued at prime cost, The closing stock of finished goods on 31st March
was Rs. 4,50,000 and the balance has been sold for Rs, 14,50,000.
Prepare:

(1) Process Account

(2) Finished Stock Account

(3) What amount to be transferred to Profit and Loss A/c after creating reserve for unrealized profit.
**##********************
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ENGLISH VERSION

' | 14
Que-1 Writes answer the following questions. (14)

1. Describes data types in FoxPro.
2. Describes scope of options of database file

OR

Que-1 Writes answer the following questions. (14)
1. Explain use of Command, Database and Index files in FoxPro
2. Describes Fields of database file
Que-2 Writes answer the following questions. (12)
1. Describes Display command
2. Describes Browse command
OR
Que-2  Writes answer the following questions. (12)
1. Describes List command
2. Describes Append and Insert commands
Que-3  Writes answer the following questions. (12)
1. Describes Locate and Seek commands
2. Give difference between Pack and Zap commands
3. Describes Delete command
OR
Que-3  Writes answer the following questions. (12)
1. Describes Recall command
2. Give difference between Sort and Index commands
3. Describes Find command
Que-4  Writes answer the following questions. (12)
1. Describes use of Scan...End scan loop command
2. Describes use of Modify and Do commands

OR
Que-4  Writes answer the following questions.

(12)

1. Give difference of Edit & Browse commands

2. Describe use of Index, set order and set relation commands
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